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+2 % \1—(

What is the disproportionation product of HNO, ?

o NO H(\/OQK¥ 5 NO T HN03
o H,0 + fgzo
e HNO, + NO + H20/

Q None of these
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In which of the following option first compound shows Geometrical isomerism
and the second one shows ionisation isomerism -

Mh By F
[CO (NH.); Cl;] and [Co(H,0)- so4]u

[Co(en);] and [\C/o\(ﬁxs\f\lil

[Co(NH,),] [CoCl,] and [CO@(,]CI

[Co(NH;),Cl;] and [Co(N mlﬁ]
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Which of the following has peroxy linkage?

I
I

. 0
o o

H,S,0. —- 1
O o Mo =Sy AoH
© 48 &
H,S,0, o
O
VO\% )
) \O—-o/§\o,<p
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tetrahedral-
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Match the following:

Column-I Column-II
A gc]~ ? |lanaY

Linear

\?
XeF, — \hp "
Trigonal Pyramidal

Square Planar

TBP
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tollan €AN Rule? (s)
How many complexes are-iseetectronic?
V(CO),, Cr(CO),, [Mn(CO):|~ Fe(CO)., [Co(CO),)*, [Cr(CO),|*, Ir(CO),,
[Cu(CO),]* 36 36 36 2 2 2

Y4
Q3+EXxY = 3%
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Whnixh of the follmgnn;, Lomplexess are di; ic?2_ —
[Mr(NH,),]'% [Fe(H,0),]1'% [CoClJ*; ([63’(@2
2+§ 9‘_% 2+6 =7 0,6) d{i
g d<
. __,65, [
I \JL?

J

o, Diamag
i 4
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{ M

Which of the following follow_octet rule: \C—: C\
H,S0,, HCI, NO,, NO, 0., czn,{nmf) " o

2 . . EQ:-

1 0\) _ "

[l

6 (¢ b

|
@ "\
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Product of disproportion of IIN(\)/
0 -

0 .
O -
O
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PHYSICS
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If,e”. %}’Lhy. ¢) is dimensionless quantity, then find a relation between a, f, y, 8 where
e,f i:p, ll: c respectively charge, permittivity of free space, planck constant and speed
of light

N \
U = - _é_/): = U Z{ LM Ls ,'\r J C—zéa’ A’C) :>
Hn to¥ €o — 8

E - [\;Q 5 he- Fa - [M2TT Ny N, n,"N

A
=y [MOLU T /ﬂ ﬁ‘;
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A infinite wire is placed along +z direction and a straight line has its end point at
A(—+/3a, a) and (a, a, 0) then the value of line integral of [ B.dl is

5‘3"1(1’1’;5&&@@9. Y

-

Baa) - B (a,a)

+

(0, 0) X
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When a source and observer are moving towards each other with@e( §p_e®han
the observed frequency isif source and observer move away from each

other with same speed then find the observed frequency. Given frequency of source
n_= 240 Hz and speed of sound in air =330 m/q

177'770-%\.) - 12

= g e wew
AR g3 %/ Al

, ¢ - Vo *33 N | 0
—r:‘(o C+\9}"7 = @W
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A substance is heatecsiézgé%;nt volume from temperature T, = 200 K to T, = 300
K and specific heat i he mass of the substance 1s:é£lf heat given to the
substance is |AQ = nK}hen Find the value of n

9
AQ . \msdT
\_2 g\\ AKTdT
26 N i v @@‘_2@)
KKT - =
S \TS Jdo
> » . _\(_x\04\5
2
S ¢ 1833k
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A block of mass 5 kg moves along the x-direction subject to the force

F=(-20x+ 10)N with the value of x in meter. At time t = 0 s. it is at rest at position

X = 1 m. The position and momentum of the block at (t = =) sec.
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Point charge (Q is fixed at loop at any point. another charge Q is placed at
diametrically opposite point. Find angular SHM of charge.
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In given circuit S, closed for long time after S, opened and S, closed for LC oscillator.
find angular frequency ® and V__across capacitor.

O
67’*;0 4-0 T =20 = 4A
e O C A_
L= I 25 mH S,
~ E
Q:; C,\l = ‘D‘HGG*QO ~ Q.QO n(/// gs: o
50
\

Sid faclNofore . W= =—— G

. \Lc JQWDB Klowo © il

= | \ - 0000 <= QOOO

—
—_—

\

= v
J2570¢ Syt S
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Metal Target (z = 46) bombarded with High energy e~ beam. The emission of
X - rays from target is analysed. The ratio 'r’ of > of k_line and cut off is found to be
r=2.1f same e~ beam bombard another metal target with z =41, then 'r " will be :
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Claxe)

A g charged is placed inside the closed cylinder as shown in figure. find the ratio of flux
through upper base and lower base of cylinder

4 (- GRS - G20
4> AEe > %—: |- (8Réo
- s (-t |10

| — 1
C\>‘/:i(|_(ﬂg60) 2

a&u - Q‘\f3>
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A gas goes through cyclic process EFGH. Pressure and Temperature graph shown
below. Find

(a) Total Done in cycle EFGH
(b) AUgg 2p l ’
(€) Qpora In cycle EFGH s [ —€ (s
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p (Mshda)
[f F= -kr in hypothetical atomAow velocity depends on n
MY = _kL K¥ = Ml
L]

F =KX = m\%
N
2 ¥ = T\VL KK‘L‘ V,“,.U“ - Kb
et \”‘)‘@' o

K, ah

We
Kt h* 3T = ¢ =« n<

AR .
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207

A radioactive sample of U%°® decays to Pb through a process for which half-life
< isf4.5 x 10° ye‘istmd time- perlod when mass ratio of Pbto U @

7]
e (v—r ﬂpb): At
Ny

’(/\'\ | +238%x ) q
203 U/L
LV\ :%X

207+ 1666
203

‘(/V\@) = Dy L

T '/

-(,,/)_:Qy)l_
/\
A= dno

t//)\

|

Moy DY) x MM

Mamph —Mp,x209-_ 7
Moy, Y)U X 23Z |

YL\LB% 238 x7-
of 203

— |
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™) o)
s e

W, gm of a non volatile solute X is dissolved in a W, gm of water and another
W, gm of non volatile solute Y is dissolved in W, gm H,0 . The molecular mass
of x is 80 % of Y and the vant Hoff factor of X is 1.2 times of Y then the

elevation in boiling p()‘int of Xis....%of Y.
' . 2 |2 X MMy
OTy = U R\j\ \ el
X = x T, MV
ST '
RS SLLN
K=
RREVA
AR
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In a container, 10 gm X is added which creates 2 atm pressure at constant

temperature. In the same container, 80 gm vy is added which creates a final
pressure of 6 atm at same temperature. Fin
@ \/ g/ Vineed !

X—aloa'm ::;a’m v/ E'ﬂ

) X _

P7—(3_od\/v\ P> Gabw VA \l{j\%
HO_——, * e

yggoaw PV=nRT Vx _ My P

%e)LMM PV:%RT \/a \ 'iy W,




¢
TS i -
/ﬂ\ . C A(% -:>L> SR A CP Q-T

INg &
7~T= 8O\
\V Kém/ e >E5%x20. 3% ¥O
>
! *E12)
Cv:')—— q)lgy'f Q
R:&& = |2+ 8
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Hydrazine is reacting electrochemically with oxygen which produces N, gas
which help in converting chemical energy to electrical energy?

O
. Pl
At)athode, N, is produced AR
o 2P | omd '\ P

At anode, N, is produced where 4 moles of electrons is involved —

] . | . . N=>-2
a Major product of this reaction are oxides of nitrogen S
2¢

M( cathode, 0,, is converted to OH

— ~

O
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M.Y,0, is a compound in which M exists as +2 and +3 oxidation state and Y
exists as +3 oxidation state. The fraction of +2 oxidation state of M is 1/3™ of
total M. Find the value of x? ‘

13 6;)
#2(2) +3 (x-a) + € =% =0
20 +3In-%a-2°0
IN=A+2 | ,
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lim
I-x

/—30'\

t10£ (x)-x10£ () =(Djf f(1) = 2, find f (x).

99
G
o -HRulo

\

//

lox f(i) 1 f(l) =
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A A
)

The value of tan [s;n‘l (%) - écos‘1 (-\/z—gj] is F\;?_ﬁ @I\
. (1) <A
W(A”BB:M”M/ 2 - AR

\ - taurtens S J
+aniA
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<|
Let, S = a+[\/7abez} Tl—{(gj\/\/:
Tz—{(1+\/_) nEZ} (

gwhnch of the foll(b(;ng are true:
UT,UT,CS

1Y 12 3
%2 N (2024 ©) # ¢ 3*;”11

d fa) (O' 20124) =¢
Ok

)n(n\e Z} and




JEE ADVANCED 2024 ##% PAPER DISCUSSION

Circle with centre (0, <) & with radius r touches y = 2x if < +@= S5+ V5

then find x & r.

(o

a:Q—X.
’”( QZX*E\L:O A4S b+ =S (S
of() r 0(‘ I
— % 1= = o
| EG WYWS(*}/!J
(“0(,:46 ( '6:4;;—*
A=C
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cO
\

If lim(sin (sinkx) + cosx + x)%/% = b

E
Find the value of k. &Sm(émiﬂt\f (AT )L”B %/ 6
[,N Sin @§L%)+C@ow(fx |

=0
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Let R denote R x R.
LetS={(a,b,c):a b, c€ R & ax?+ 2b 25 0V(xy) € RZ—{(00)} then
{( ) X‘ﬁ"'é cy (x'y) {(000)}

which are true o=
OV 0 olde by oA )
7 . M
@y (23.6)€5 b” 4 at oblf/)+ C(dra) 7 ©
(b)/3b12)€Sth&en|2£|<1 (Wv’t&bmfa70 SqLYY\€KJ
aC” C>o ¥ D<@

==l

% ‘/ 2
L~ 4 Cog *32)‘(0((<O



JEE ADVANCED 2024 % PAPER DISCUSSION -

0=3= \12 = 0%/7’/ (Bt 2y-

Ci \/_} =4 G \/b)(é 1/')" = 6 -1,7 |
Q=392 D= 51/6 61/2 '&) - g - (4 63) b— ('0207/6
3x + 2y = log,(18)*/* & 2x+y—r;b(1080)‘/2) i )
v o5, Tt
Find value of 4x + 5y (' 090) _ ﬁ—, a c@
) -1
M +F0 % 12) " %oga) b ‘i
| Dy y_ o
& w) 470
o oo Lo
{ % {/'l/ - A g/ \’6
h '9‘+d -3 ~ AN - >

il = ’\7/
| | m %)y,
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_ St = NV t 70|
Icotx—\/ll<x<] \)ﬂx *b |

= 2 4\l
Then@— cos6x) +cos%(sin6x+ cosbx) = ’6 ] &)
2

L_,J ,é — |2+ ),JT,
_ AL =

(o5 ( 67 11%) |2

) 2
60% Ww*SW"%; = <\]T‘H>L




JEE ADVANCED 2024 v PAPER DISCUSSION

2
Area bounded ub f (""3‘343’( _
— R
YZO,XZ({YZZIZ—ZXB dl.: ’Q_‘Q‘X /3()C, 0 '\“3—‘2()
. _
Y2 > 4x,3y +V/8x < 5V8 > 5 (2=6) " < dr.
G 2 / s (W ’S 8
:('!9( 7~ ) (2’241)
T2 = 22 2 - B y \
\/ oA =12 J T
O )2 "\ (a
%d +2ba = Ex2W 2", 10> 2> f
KX
L_) -0 YA = g Q,
& /\0(()’ - / &/ 2'{)
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A group of 9 students, s,, S,,.... Sg is to be divided to form three teams x, y and z
of sizes 2, 3 & 4 suppose that s, cannot be selected for the team X, and S,
cannot be selected for team Y. Then the no. of ways to form such teams.

(/ S Qq e \
/ \ D’{' . 4 4 %' '1
al X+ ¥ —(xy
x & % 1 ¢ /
% 2 4- 9, [ ¢ q) H I
- %2 —~ 2131 Y( Izl 2f2)y| Y2 (] =
CX 0 9 , ° o b 00 b 2 0o =



JEE ADVANCED 2024 ##¥% PAPER DISCUSSION

f(x) = sin’x
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241 2P =300 S 300 29l

—_ <
Let OP == i+1+k OQ—1+B—]+kand0R—i+]+ kbethreevectors,
EAVIEAN
where a, BER \/ig} andOdenotes origin. ( O/Q( /ﬁ) %__""f ‘Q, +l 3 !/%: O
0P x 0G)- OF = 0 Ly OB
(V\/_J)w_// 2 X P /2*é<+/l — O
The point (a, ,2) liesonthe plane3x+3y—-z+1=0, [=?
|-! | | 1\ \y
& | +
\ 1-‘/§ ) I \ 2 )F
' ’ 2?( _\( '—\~ -t | L
! F > -0
('\\ /l O( ZP
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|+ atb+C=-3 %‘M

QY

Let (L(gc) = x* + ax3 + bx* + a be a poly. with real coeff, such that f(1) = -‘9

Suppose \i/\/v—:},is a root of equation 4x> + 3ax® + 2bx = 0, wherei =vV-1.
If a;,a,, a; and a, are the roots of equation f(x) =0, then +
la3|? + |ay|? is equal to P 3L

y2
UA + 30U 2‘0} - 0O
[ ' ™ R

._3/__@__:0 %E:O}
4 -

14 63 16 = 0

Y
A+ F-2x-16= 0 2b _ o
OC2) (449)- ! IS A
2 0 : /1’36
=2 ,-3 16+~ )o —

2* > N
X =2 L= (*\’ﬂ







